ACCAspace

Provided by
ACCA Research Institute

ACCA F9

Financial Management (FM)
S ER
ACCA Lecturer: Sinny Shao

ACCAspace FEACCAFFLNINRIHITIHEFS Copyright© ACCAspace.com



Part E : Business Finance——cCost of Capital I

€ oveomnnn

/ CAPM I

ACCAspace FEACCAFFAINRITIIREFE Copyright© ACCAspace.com



Introduction

The cost of capital is the rate of return that the enterprise must pay ta
satisfy the providers of funds, and it reflects the riskiness of providing
funds.

2 aspects:

« costof funds that a company raises and uses
* returnthatinvestors expectto be paid
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Introduction

Cost of capital and risk

Cost of capital = risk free rate+ premium for business risk+
premium for financial risk

Risk free rate——yield on government securities

Premium for business risk——due to the existence of uncertainty
about the future and about a firm's business prospects

Premium for financial risk——relate to the danger of high debt
level.

Cost of capitaltBE]#l/E1 )l cost of equity LAz cost of debt BN
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Introduction

The creditor (payables) hierarchy

o 1 Creditors with a fixed charge
E 2 Creditors with a floating charge
a 3 Unsecured creditors
E 4 Preference shareholders

v 5 Ordinary shareholders

This means that the cheapest type of finance is debt (especially
if secured) and the most expensive type of finance is equity
(ordinary shares)
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Dividend Growth Model

h&Eicost of equityfI 7758 AT :
« Dividend growth model
« CAPM

Assumption of dividend growth model: the market value of share
Is directly related to the expected future dividends from the shares.

It is often convenient to assume a constant expected dividend
growth rate in perpetuity, so the cost of equity can be calculated as:

K- dy(1+9)
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Dividend Growth Model

{&FADividend growth modellfE&ETE— /LM :
1. BEPEHOEHARZENS4—D0 or D1
2. BRI IRNBRKERES SFTEGKaY

Example :

A share has a current market value of 96c¢, and the last dividend
was 12c. If the expected annual growth rate of dividends is 4%,
calculate the cost of equity capital.

121+ 004) o
96

= 0.13+0.04
0.17
17%

Cost of capital 04
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Dividend Growth Model

Estimationof g
the growth rate can be estimated using Gordon's growth approximatio
g=br
Where g Is the annual growth rate in dividends
b IS the proportion of profits that are retained

r IS the rate of return on new investments

the future growth rate can be predicted from an analysis of the growth

In dividends over the past few years
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Dividend Growth Model

Weaknesses of the dividend growth model

 The model does not explicitly incorporate risk.

» Dividends do not grow smoothly in reality, so g is only an
approximation.

 The model fails to take capital gains into account, however
it is argued that a change of share ownership does not
affect the present value of the dividend stream.

* No allowance is made for the effects of taxation although
the model can be modified to incorporate tax.

* |tassumesthere are no issue costs for new shares.

* Itdoes not produce meaningful results where no dividend is
paid
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The CAPM is based on a comparison of the systematic risk of
individual investments with the risks of all shares in the market.

Portfolio theory
Portfolio theory suggests that investors can reduce the total risk on
their investments by diversifying their portfolio of investments.

CAPM use market portfolio to estimates the cost of equity

Risk:
Systematic risk and Unsystematic risk

In return for accepting systematic risk, a risk-averse investor will

expect to earn a return which is higher than the return on a risk-
free investment.
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Common errors on this topic in exams include:
« Assuming risk-averse investors wish to eliminate risk. Risk-

averse investors are prepared to acceptrisk, in exchange for
higher returns

« Failingto link the risks of an investment with its returns
« Mixing up systematic and unsystematic risk
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The implications of systematic risk and unsystematic risk:

« Ifan investor wantsto avoid risk altogether, he must invest entirel
in risk-free securities .

« Ifaninvestor holds shares in justa few companies, there will be
some unsystematic risk as well as systematic risk in his portfolio

« |fan investor holds a balanced portfolio of all the stocks and
shares on the stock market, he will incur systematic risk which is
exactly equal to the average systematic risk in the stock market as
awhole.

« Shares in individual companies will have different systematic risk
characteristics to this market average.
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The CAPM model uses a beta factor to measure a share's volatility

In terms of systematic risk

Beta factors

0 This is the systematic risk for risk-free investments.
Returns on risk-free investments are unaffected by
market risk and variations in market returns

1 This is the measurement of systematic risk for the
stock market as a whole

Lessthan 1 | Systematicrisk is lower than for the market on
average

Morethan 1 | Systematicrisk is higher than for the market on
average
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« Stepl: Estimate the risk-free rate. The short-term Treasury bill
(T-bill) rate is usually used, but some analysts feel the long-term
Treasury rate should be used

« Step 2: Estimate the stock’s beta, the stock’s risk measure

« Step 3: Estimate the expected rate of return on the market

« Step4: Use the CAPM equation to estimate the required rate of
return

E(r;) = R + B(E(rn) — Ry)

Where E(r) isthe cost of equity capital
Ri s the risk-free rate of return
E(rm) 1s the return from the market as a whole
B; is the beta factor of the individual security
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Investors have an expected rate of return of 8% from ordinary
shares in Algol, which have a beta of 1.2. The expected returns to
the market are 7%. What will be the expected rate of return from
ordinary shares in Rigel, which have a beta of 1.8

Algol:  E(r) =R;+B(E(r,) —Ry)
8 =R+ 1.2(7-Ry)
8 =R¢+84—12R;

0.2R; =0.4
Ry =2%

Rigel:  E(r) =2+(7-2)1.8
=11%
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Problemswith applying the CAPM in practice:

« The needto determinethe excessreturn(E(rm)—-Rf).

« The needto determinethe risk-freerate. Arisk-free
Investment might be a government security. However, interest
rates vary with the term of the lending.

« Errorsinthe statistical analysis used to calculate values.

« Betas may also change over time and changes may not be
identified quickly through historical statistical analysis.

« The CAPM is also unable to forecast accurately returns for
companies with low price/earnings ratios
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